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ll Semester B.C.A./B.H.M. Examination,MaylJune 201 I
(Freshers + Repeaters)

(CBCS) (2014-15 and Onwards)
LANGUAGE SANSKRIT - II

Mahashwetha Vrittanta (Kadambari), Grammar and Translation

Time : 3 Hours Max. Marks : 70

Instructians : 1) Answer in Sanskrit/KannadalEnglish,

2) Question Nos. I and VI should be answered ln Sanskrit.

r. qfr*+qffifuat
dooJDd *g.bJq soa udosro :

Choose and write the correct answer:

t) effia;sqaf q: ?

tl trq*qr

{y r.wd:

{) q*ETftuft

(10x 1 =10)

3{) qr$

z; k*tu: o: ?

3t) rtq:

s)ffitrsfr:$: ?

3r) lr€n
; '-

=4 4) fuqfrot?
oT) ES

3rr) qpp, E) Et*U:

en) ftgw: E) ftr€:

en) ftr:a: E) Eft {) qqq

er) q+dr E) dt {) Reft:

s1 ffi.ffi?
3r) 3Tq'+1qr 3TT) Kdbiqr €) E{r

oy firwnrrfiq+' slqid ?

sn) qil: sm) sd: E) gQ' {) q},

P.T.O.
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7) qfrTtre: $'er.rrqgrr{+rq.emr$( ?

3r) 5fr. 3Tr) sftqq E)@ i) *dq.

e) qarfrssft-otq, ?

oT) Td'frs: 3ilT) rwrfis:

g) q-<rffim?

3r) e.r+fr s{r) qg{l

10) qerq{f,r*-r ?

er) rr*rdtug* an) rrura:

ll. Xd: sffi*, Y*ercqqwtfrqa r

addl d#ed giuot'doddO- erodo:u :

E) {qrg?T: {) anrfrs:

E) rr$t {) qsFilft

E) fugrrqg*nfr tl ,rerqrqr o
(2x 1 0=20)

(1x12=12)

-2- |ruffiililililililIililffitlill

Write an essay on any two of the following :

1 )'rEi qrq fr{ i sg'qlT-crflqTfr sTRITiq frsa t

'ddr' aodded.: ? ddD$ rldreadrdddlado:r.

What is rEI ? Write about important prose romances.

2) q.erfrsq'fl{m: qrqrquiqfAfttwc t

z3oog.led d:* abaa{ edc:d doqnddoldidod b&o.

Summarise the conversation between Chandrapeeda and Mahaswetha.

3) grsflq,sffqui+c t

fr odoedd t'ro dcrr dQ ado:r.

Describe the beauty of Pundareeka as narrated by Mahaswetha.

||t. rrEiqFfs 3i-{4rdgfr'd I

rldruarHdlerdraaon :

Translate the prose,passage :

qqgffiq 6q1 snryqusrffi argTfr -
qkrfri qeFfl;f T€IIq qk"IT gTIIurFi:

qtr{fr qetr{rq{ffi iqqRfafr qq:

f
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ftrqgqnieqfrSqqrq lsiw
qqcfqqr€ tE< !il{+iqiearftrfrXar t

IF?i ft fr 5nqrgrqr eR r<q. t qen +q-

rIFIT:@3{ft<rkuqr-
furqr sffiTqTd r fo{qt aqr {r+reqTft

lrqrqelMrfrt
3Ter.n

qrmr.toT c.eqiuTrF{fr*Rn' gftrffi+
qe{r fr-geffi{r1qryS ;il-tl 6=rcFT: qR I

dTqiqg*TlfeTh 1q;i r+'r+d: .Fnd*i:

rRT: q$ffiq | 3r;q ehq: rilgq r

3{qETk{d1 I 3lqiqfirisqT{ |

3rqq-dr(qffi I{r(3Rd{lrn;qqdr(
qrdq r erqetffid fi'faq | 3{qE

ffir*ffi;dqterc4*O'
1y. 6e}: qr+{q\: q{<f fdqga | (2x4=8)

addr aadrrlddldodqJrdbd ado:r :

Explain with reference to context any two of the following :

1) 3Tg{qr?R qRrt: rlTqqriqqfr |

2) RfffrRs-E1-{iffi: I

3) tTrF{TdTur 64-qq-;reT: I

4) 3{cn+gq: dg-dq I



v. ed: dgPcwftftrso t

\
1) gr@rE qt:

3) qER*dtqr: EffitH'

vt Tiwdsrre.{rstrftrua r

iod.d todoJ:O erudot :o-,
Answer in Sanskrit :

er) qqr+i fdftqrd{i tdftr@ qrTRFllrI ftrc-d t

adddl$odt eidc r^3d"$ udosro:

Write short notes on any two of the following :

2)6rffi0

1) fifrIan:

z) AgqugqT{

s; Erarfrroru:

4) Tfirq

sn) eq)'iqnwdqa (EfrE) :

1)qnc+. 5{d+ qafr t

2)denffi t

3)$s: ee=ierqft t

e) erkur

vll. ffiresTTrr{n 3{rs.rlTrq{ret efJqem t

d{d et'm etorkJadc$O etd>aaaxr:

Translate into Kannada or English.

nrqfiq: dTer: FTrrFRrr q* W-* qaft g^ | qEr qril s{Trl-FI ERqft dEgtar* ftrqRli

@ oTr$q I qr T5+fi "qtq {< gR* Fifr-qrf .rdR ? cqrflfr qrf, :

Isg" I gr: eizr+( - "gdEd tq 3l-6 qa;dft | qd: 3f,6 Tqftanft TEiti q'i vq{
etdqRqrcTqfuqtqifr | "

I tilililt |||il ill lilll lllil llll lill

(2x2Vz=5)

(5x1=$)

(2x21h=51

sM - 117 -4-

4',)

o
sl €aqq-eq

6) sq{rK{

zlSreRffi


